 EE10
Fall 07

Midterm 1
10/22/2007

Instructor: Prof. M.F. CHANG

UID:
Left Student’s Name:

Right Student’s Name: _

Problem 1: 15
Problem 2: L&
Problem 3: 7©
Problem 4: )/

Problem 5: <

—

Total:


Maksim
Rectangle

Maksim
Rectangle

Maksim
Rectangle

Maksim
Rectangle


Prob. 1 (25%) - _

One GPS company declares that they invent a new type of GPS battery. On the user’s
menu they said that, this new type of battery could deliver:]:ﬂt%)& or 100 continuous
hours. During that time, the voltage will drop from 12V to 10V. Assume the drop in
voltage is linear with time. How much energy does the battery deliver in this 100 hour

interval?
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Prob. 2 (25%)
fV,=75,i =94

a) Spec1fy which power source is developing power, Wl’]lCh power source is
absorbing power.

b) Find the total power developed and the total power absorbed. Verify the power
dcveloped equals the power absorbed.
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Prob. 3 (25%)
Use KCL & KVL & Ohm’s law to solve the following problem
a) Find the power dissipated in each resistor. /L}’j

b) Find the power delivered by the voltage source
¢) Verify power delivered equals power dissipated.
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Prob. 4 (25%)
Usea Y to A transformation (around 40Q —10Q2 —20Q ) to find voltage v in the circuit.
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Prob. 5 (25%) Bonus Problem
Use Node Voltage method to find v, and v,
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